p=B =100 _ 540

i & 50
VO - 8m R(‘Vhe
¥y ‘i/he = VO = : (V)
gnRs 50X3
= 6.7 mV (PP)
i~ Ve _ 67mV
by 2kQ

w

= 335 pA(P - P)



6.107

Refer to Fig P 6.107 For large B the DC base cur-
rent will be ~0 Thus the DC vottage at the base
can be found directly Using the voltage-divide
rule

100
Vpg=5-——" __ =25V
# 100 + 100
if: Vg = 07
Ve =25-07=18V

_ 18V _

7 S100kQ

Yoz _ _ GRC
Y; Rg+r,

|4
Substituting r, = IT =500

E
and Ry = 3.6 k1. R- = 93 kQ

and a = 1 gives

Yoo - __36  _ oggev,v

v, 0.050 + 3.6

Yoo - __—33  _ _pog04av/vV
0 0.050 + 3.6

If the node labeled vy, is connected to ground:



